EE 341 - Quiz #3

Name (please print): 


              The last four digits of your SSN: 
1. Consider a three-phase, Y-connected, 13.8 KV, 138 kVA load with the power factor of 0.0 leading. Compute the active, reactive power, and the impedance of the load.

2.   Consider a single-phase, 138 V, 138 Watts load with the power factor of 0.8 leading. Compute the active, reactive power, and the impedance of the load.

3.   Consider a three-phase, Y-connected, 13.8 KV, 138 kVA load with the power factor of 0.95 lagging. Compute the active, reactive power, and the impedance of the load.



















“No aid is given, received or observed”         Signature_____________








